Časopis pro pěstování matematiky

Jiří Jarník

On a certain modification of the theorem on the continuous dependence on a parameter

Časopis pro pěstování matematiky, Vol. 86 (1961), No. 4, 415--424

Persistent URL: http://dml.cz/dmlcz/117390

Terms of use:

© Institute of Mathematics AS CR, 1961

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://project.dml.cz

ON A CERTAIN MODIFICATION OF THE THEOREM ON THE CONTINUOUS DEPENDENCE ON A PARAMETER

JIŘÍ JARNÍK, Praha (Received June 9, 1960)

Theorems modified with respect to [4] on the existence of generalized Perron's integral and on the continuous dependence on a parameter are proved.

In the papers $\lceil 1 \rceil$ and $\lceil 2 \rceil$, the assumption of convergence of the sum

(1)
$$\sum_{n=1}^{\infty} 2^{n} \omega_{1} \left(\frac{\sigma}{2^{n}} \right) \omega_{2} \left(\frac{\sigma}{2^{n}} \right)$$

was investigated in the theorem on the continuous dependence on a parameter (cf. [4], theorem 4,2,1). It was shown that this assumption cannot be weakened, if at least one of the following conditions is fulfilled:

- i) There exist $\alpha > 0$, d > 0 such that the function $\eta^{-\alpha} \omega_i(\eta)$ is non-decreasing (for i = 1, 2) and $\omega_2(\eta) \leq d\omega_1(\eta)$ for all $\eta \in (0, \sigma)$;
 - ii) $\omega_1(\eta) = \omega_2(\eta)$ on the interval $(0, \sigma)$.

Let us now draw attention to a special case in which neither of these conditions is fulfilled.

Consider a sequence of ordinary differential equations

(2)
$$\frac{\mathrm{d}x}{\mathrm{d}t} = a_k(t) x + b_k(t), \quad x(0) = \xi$$

for k = 0, 1, 2, ..., where a_k , b_k are continuous on $\langle 0, T \rangle$. Let $A_k(t) = \int_0^t a_k(\tau) d\tau$, $B_k(t) = \int_0^t b_k(\tau) d\tau$, $A_k(t) \to A_0(t)$, $B_k(t) \to B_0(t)$, uniformly on $\langle 0, T \rangle$. Let the functions A_k , B_k fulfil the inequalities

$$|A_k(t_2) - A_k(t_1)| \le L|t_2 - t_1|,$$

 $|B_k(t_2) - B_k(t_1)| \le \omega(|t_2 - t_1|).$

(k = 0, 1, 2, ...) for some constant L and some function ω , $\omega(0) = 0$, for arbitrary $t_1, t_2 \in \langle 0, T \rangle$.

If we put $\omega_1(\eta) = K \omega(\eta)$, $\omega_2(\eta) = L\eta$, then the functions $F_k(x, t) = A_k(t) x + B_k(t)$ fulfil the assumptions of the theorem mentioned above on a set $t \in (0, T)$, $|x| \leq M$.

As the functions A_k fulfil the Lipschitz condition with a constant L independent of k, the functions $a_k(t)$ are uniformly bounded. Therefore the functions $f_k(x, t) = a_k(t) x + b_k(t)$ are equi-continuous in x. The sequence of equations (2) fulfils all the assumptions of theorem 1 from [3] (see also [4], theorem 0,1). According to this theorem, the sequence of solutions $x_k(t)$ of (2) converges uniformly to $x_0(t)$ with $k \to \infty$. This convergence does not depend on the behaviour of the sum (1).

This result is correct even for the generalized differential equations which have been introduced by J. Kurzweil in [4]. Of course, the proof cannot be carried through by means of the theorem mentioned above, because we know nothing about the behaviour nor even about the existence of the functions $f_k(x, t)$. Instead of this, we can start from the formula of variation of constants. Then we obtain the required result by means of integration by parts (cf. [6]).

This fact leads us to the question, whether, in similar cases, the assumption of convergence of the sum (1) cannot be weakened.

In the present paper we introduce a new assumption to replace that of convergence of (1), if $\omega_2(\eta) = \eta \varphi(\eta)$, where $\varphi(\eta) \to \infty$ with $\eta \to 0$. The new criterion gives better results in some cases. Roughly speaking, this happens if $\eta^{\alpha} \varphi(\eta) \to 0$ with $\eta \to 0$ for all $\alpha > 0$.

Let $\omega_1(\eta)$, $\omega_2(\eta)$ be continuous increasing functions of η on $\langle 0, \sigma \rangle$ ($\sigma > 0$), $\omega_1(0) = \omega_2(0) = 0$. Let $\omega_2(\eta) = \eta \varphi(\eta)$, where $\varphi(\eta)$ is a continuous decreasing function, $\lim_{\eta \to 0+1} \varphi(\eta) = \infty$.

Theorem 1. Let the function $U(\tau, t)$ be defined and continuous on a square $Q = \langle \tau_*, \tau^* \rangle \times \langle \tau_*, \tau^* \rangle$. Let the inequality $2^{n_0} \ge \varphi(\sigma)$ hold for some positive integer n_0 . If we denote by ψ the function inverse to φ , let

$$\sum_{n=n_0}^{\infty} 2^n \omega_1(\psi(2^n)) < \infty.$$

Let the inequality

(4)
$$|U(\tau_1, t_1) - U(\tau_1, t_2) - U(\tau_2, t_1) + U(\tau_2, t_2)| \le \omega_1(|\tau_2 - \tau_1|) \omega_2(|t_2 - t_1|)$$

hold for all $\tau_1, \tau_2, t_1, t_2 \in Q$, $|\tau_2 - \tau_1| \le \sigma$, $|t_2 - t_1| \le \sigma$. Let $\tau_* \le \lambda_1 < \lambda_2 \le \tau^*$.

Then the integral (cf. [4])

$$\int_{1}^{\lambda_2} \mathbf{D}_t U(\tau, t)$$

exists and the inequalities

(5)
$$\left| \int_{\lambda_1}^{\lambda_2} D_t U(\tau, t) - U(\lambda_1, \lambda_2) + U(\lambda_1, \lambda_1) \right| \leq \lambda \Psi(\lambda),$$

(6)
$$\left| \int_{\lambda_1}^{\lambda_2} \mathbf{D}_t U(\tau, t) - U(\lambda_2, \lambda_2) + U(\lambda_2, \lambda_1) \right| \leq \lambda \Psi(\lambda)$$

hold with $\lambda=|\lambda_2-\lambda_1|$ and with a function Ψ depending only on $\omega_1,\,\omega_2,$ for which

(7)
$$\lim_{\eta \to 0+} \Psi(\eta) = 0.$$

Proof. Let $\varphi(\eta) \ge 4$ on an interval $\langle 0, \sigma_1 \rangle$. Let us choose $\eta \in \langle 0, \sigma_1 \rangle$. Then there exists a positive integer $N = N(\eta)$ such that

$$(8) 2^{N+2} > \varphi(\eta) \ge 2^{N+1}$$

and evidently

(9)
$$\lim_{\eta \to 0_{+}} N(\eta) = \infty.$$

Let us form a sequence of positive integers k_n such that $k_1 = 1$, $k_{n+1} = k_n r_n$, where

(10)
$$k_n r_n > \frac{\eta}{\psi(2^{N+n+1})} \ge k_n (r_n - 1).$$

Then, evidently,

$$\frac{\eta}{c\,\psi(2^{N+1})} \ge k_1 > \frac{\eta}{\psi(2^{N+1})}$$

holds with $0 < c \le \frac{1}{2}$, according to (8). Moreover, there is for all n > 1

(11)
$$\frac{\eta}{\psi(2^{N+n})} < k_n \le 2 \frac{\eta}{\psi(2^{N+n})},$$

$$(12) r_{n-1} > 1.$$

Let us first prove this for n = 2. Then according to (8), there holds

$$1 \le \frac{\eta}{\psi(2^{N+2})} < k_1 r_1 = r_1,$$

$$\frac{\eta}{\psi(2^{N+2})} < k_2 = k_1 r_1 \le 2k_1 (r_1 - 1) \le \frac{2\eta}{\psi(2^{N+2})}.$$

Now, assume that (11), (12) hold for some $n \ge 2$. Then, according to the definition of k_n ,

$$k_n r_n > \frac{\eta}{\psi(2^{N+n+1})} \ge k_n (r_n - 1).$$

As $\eta \varphi(\eta) \to 0$ monotonously with $n \to \infty$, also $\lim_{n \to \infty} 2^n \psi(2^n) = 0$ monotonously. Hence

(13)
$$\psi(2^{N+n+1}) < \frac{1}{2} \psi(2^{N+n}).$$

According to this and to (11), we have

$$1 \le \frac{2\eta}{k_n \psi(2^{N+n})} < \frac{\eta}{k_n \psi(2^{N+n+1})},$$

and therefore

$$r_n > \frac{\eta}{k_n \, \psi(2^{N+n+1})} > 1$$
.

Then

$$\frac{\eta}{\psi(2^{N+n+1})} < k_{n+1} = k_n r_n \le 2k_n (r_n - 1) \le \frac{2\eta}{\psi(2^{N+n+1})}.$$

Let us define

$$\Psi(\eta) = \sum_{n=1}^{\infty} \varphi\left(\frac{\eta}{k_{n+1}}\right) \omega_1\left(\frac{\eta}{k_n}\right).$$

If we write (10) in the form

$$\frac{1}{2} \psi(2^{N+n}) \le \frac{\eta}{k_n} < \psi(2^{N+n}) \,,$$

we see that

$$\varphi\left(\frac{\eta}{k_n}\right) \leq \varphi(\frac{1}{2}\psi(2^{N+n})).$$

But according to (13), the inequality

$$\varphi(\frac{1}{2}\psi(2^{N+n})) < 2^{N+n+1}$$

holds. Hence

$$\Psi(\eta) \leq \sum_{n=1}^{\infty} 2^{N+n+2} \omega_1(\psi(2^{N+n})) = 4 \sum_{n=N+1}^{\infty} 2^n \omega_1(\psi(2^n)).$$

Since the sum (3) converges, on the right side of this inequality we have the remainder of a convergent sum. Consequently, (7) holds.

Let us approximate the functions $U(\tau, t)$ by a sequence of functions $U_k(\tau, t)$ having the following properties (cf. [5]):

- 1. $U_k \to U$ uniformly on Q;
- 2. U_k have continuous partial derivatives of the second order;
- 3. for every $\vartheta > 0$ there exists a number $K(\vartheta)$ such that for all $k > K(\vartheta)$ and $\tau_1, \tau_2, t_1, t_2 \in \langle \tau_* + \vartheta, \tau^* \vartheta \rangle, |\tau_2 \tau_1| \leq \sigma, |t_2 t_1| \leq \sigma$, the functions $U_k(\tau, t)$ fulfil the inequality (4).

According to lemma 1 from [5], the integral $\int_{\varrho_1}^{\varrho_2} D_t U_k(\tau, t)$ exists if $\vartheta > 0$, $\varrho_1, \varrho_2 \in \langle \tau_* + \vartheta, \tau^* - \vartheta \rangle$, $|\varrho_2 - \varrho_1| \leq \sigma_1$, $k > K(\vartheta)$.

Let us denote

$$S(U_k, n) = U_k \left(\varrho_1, \varrho_1 + \frac{\varrho}{n}\right) - U_k(\varrho_1, \varrho_1) + U_k \left(\varrho_1 + \frac{\varrho}{n}, \varrho_1 + \frac{2\varrho}{n}\right) - U_k \left(\varrho_1 + \frac{\varrho}{n}, \varrho_1 + \frac{\varrho}{n}\right) + \dots + U_k \left(\varrho_1 + \frac{n-1}{n}\varrho, \varrho_2\right) - U_k \left(\varrho_1 + \frac{n-1}{n}\varrho, \varrho_1 + \frac{i-1}{n}\varrho, \varrho_1 + \frac{i-1}{n}\varrho\right)$$

$$\varrho_1 + \frac{n-1}{n}\varrho\right) = \sum_{i=0}^{n-1} \left[U_k \left(\varrho_1 + \frac{i}{n}\varrho, \varrho_1 + \frac{i+1}{n}\varrho\right) - U_k \left(\varrho_1 + \frac{i}{n}\varrho, \varrho_1 + \frac{i}{n}\varrho\right) \right]$$

where $\varrho = \varrho_2 - \varrho_1$, and analogously

$$Z(U_k, n) = \sum_{i=0}^{n-1} \left[U_k \left(\varrho_1 + \frac{i+1}{n} \varrho, \varrho_1 + \frac{i+1}{n} \varrho \right) - U_k \left(\varrho_1 + \frac{i+1}{n} \varrho, \varrho_1 + \frac{i}{n} \varrho \right) \right].$$

In the same manner as in the lemma mentioned above it is easily shown that

$$\int_{\varrho_1}^{\varrho_2} D_t U(\tau, t) = \lim_{n \to \infty} S(U_k, n) = \lim_{n \to \infty} Z(U_k, n).$$

Now estimate the difference $|S(U_k, k_{n+1}) - S(U_k, k_n)|$. We have $k_{n+1} = k_n r_n$ and, consequently,

$$|S(U_{k}, k_{n+1}) - S(U_{k}, k_{n})| = \left| \sum_{i=0}^{k_{n}-1} \left\{ \sum_{p=0}^{r_{n}-1} \left[U_{k} \left(\varrho_{1} + \left(\frac{i}{k_{n}} + \frac{p}{k_{n+1}} \right) \varrho, \varrho_{1} + \left(\frac{i}{k_{n}} + \frac{p+1}{k_{n+1}} \right) \varrho \right) - U_{k} \left(\varrho_{1} + \left(\frac{i}{k_{n}} + \frac{p}{k_{n+1}} \right) \varrho, \varrho_{1} + \left(\frac{i}{k_{n}} + \frac{p}{k_{n+1}} \right) \varrho \right) - \left| -\sum_{p=0}^{r_{n}-1} U_{k} \left(\varrho_{1} + \frac{i}{k_{n}} \varrho, \varrho_{1} + \left(\frac{i}{k_{n}} + \frac{p+1}{k_{n+1}} \right) \varrho \right) - U_{k} \left(\varrho_{1} + \frac{i}{k_{n}} \varrho, \varrho_{1} + \left(\frac{i}{k_{n}} + \frac{p}{k_{n+1}} \right) \varrho \right) \right] \right\} \right|.$$

If we put

$$\begin{aligned} \tau_1 &= \varrho_1 + \frac{i}{k_n} \varrho , & \tau_2 &= \varrho_1 + \varrho \left(\frac{i}{k_n} + \frac{p}{k_{n+1}} \right) , \\ t_1 &= \varrho_1 + \varrho \left(\frac{i}{k_n} + \frac{p}{k_{n+1}} \right) , & t_2 &= \varrho_1 + \varrho \left(\frac{i}{k_n} + \frac{p+1}{k_{n+1}} \right) , \end{aligned}$$

then according to (4),

$$|S(U_k, k_{n+1}) - S(U_k, k_n)| \leq \sum_{i=0}^{k_n-1} \sum_{p=0}^{r_n-1} \omega_1\left(\frac{\varrho}{k_n}\right) \omega_2\left(\frac{\varrho}{k_{n+1}}\right) = \varrho \omega_1\left(\frac{\varrho}{k_n}\right) \varphi\left(\frac{\varrho}{k_{n+1}}\right).$$

Further,

(14)
$$\left| \int_{\varrho_{1}}^{\varrho_{2}} D_{t} U_{k}(\tau, t) - U_{k}(\varrho_{1}, \varrho_{2}) + U_{k}(\varrho_{1}, \varrho_{1}) \right| =$$

$$= \left| \lim_{n \to \infty} S(U_{k}, k_{n}) - S(U_{k}, k_{1}) \right| \leq \sum_{n=1}^{\infty} |S(U_{k}, k_{n+1}) - S(U_{k}, k_{n})| \leq \varrho \, \Psi(\varrho) .$$

Similarly we find that

(15)
$$\left|\int_{\varrho_1}^{\varrho_2} D_t U_k(\dot{\tau}, t) - U_k(\varrho_2, \varrho_2) + U_k(\varrho_2, \varrho_1)\right| \leq \varrho \Psi(\varrho).$$

Let $0 < \delta < \sigma_1$ and let us denote by A a decomposition $\{\alpha_0, \tau_1, \alpha_1, ..., \tau_s, \alpha_s\}$ of the interval $\langle \lambda_1, \lambda_2 \rangle$, $\tau_* + \vartheta < \lambda_1 < \lambda_2 < \tau^* - \vartheta$, for which there is

(16)
$$\tau_j - \alpha_{j-1} < \delta, \quad \alpha_j - \tau_j < \delta$$

for j = 1, 2, 3, ..., s. If

$$R(V, A) = \sum_{j=1}^{s} \left[V(\tau_j, \alpha_j) - V(\tau_j, \alpha_{j-1}) \right],$$

then

$$\left| \int_{\lambda_{1}}^{\lambda_{2}} D_{t} U_{k} - R(U_{k}, A) \right| \leq$$

$$\leq \sum_{j=1}^{s} \left| \int_{\alpha_{j-1}}^{\tau_{j}} D_{t} U_{k} - U_{k}(\tau_{j}, \tau_{j}) + U_{k}(\tau_{j}, \alpha_{j-1}) + \int_{\tau_{j}}^{\alpha_{j}} D_{t} U_{k} - U_{k}(\tau_{j}, \alpha_{j}) + U_{k}(\tau_{j}, \tau_{j}) \right| \leq$$

$$\leq \sum_{j=1}^{s} \left[(\tau_{j} - \alpha_{j-1}) \Psi(\tau_{j} - \alpha_{j-1}) + (\alpha_{j} - \tau_{j}) \Psi(\alpha_{j} - \tau_{j}) \right] \leq \lambda \sup_{0 < \eta \leq \delta} \Psi(\eta) .$$

For two decompositions of $\langle \lambda_1, \lambda_2 \rangle$ which both fulfil (16) thence follows

$$|R(U_k, A_1) - R(U_k, A_2)| \leq 2\lambda \sup_{0 < \eta \leq \delta} \Psi(\eta).$$

As $U_k \to U$ uniformly, also

$$|R(U, A_1) - R(U, A_2)| \leq 2\lambda \sup_{0 \leq \eta \leq \delta} \Psi(\eta).$$

According to [4], definition and theorem 1,2,1, it follows that the integral

$$\int_{\lambda_1}^{\lambda_2} \mathbf{D}_t U(\tau, t)$$

exists. The inequalities (5), (6) are obtained without difficulty from (14), (15), again taking into consideration the uniform convergence of U_k .

The constant $\vartheta > 0$ being arbitrarily small, evidently $\int_{\lambda_1}^{\lambda_2} D_t U(\tau, t)$ exists for arbitrary $\lambda_1, \lambda_2 \in (\tau_*, \tau^*)$. The existence of this integral for $\lambda_1, \lambda_2 \in \langle \tau_*, \tau^* \rangle$ (and, of course, the inequalities (5), (6) also) follows from its uniform continuity as a function of its upper (lower respectively) bound, and from the continuity of $U(\tau, t)$ (cf. theorem 1,3,5 in [4]).

The theorem just proved is the starting point in the proof of the theorem on the continuous dependence on a parameter for solutions of differential equations. As we have the estimates (5), (6), this proof can be performed analogously to [4] (cf. [4], theorem 4,2,1). Therefore we shall only formulate the result for classical differential equations.

Let us denote by $F(G, \omega_1, \omega_2, \sigma)$ a class of functions F(x, t) which fulfil the conditions:

$$\begin{split} F(x,\,t) &\text{ is defined and continuous on an open set } G \subset E_{n+1}, \ F(x,\,t) \in E_n \ ; \\ \|F(x,\,t_2) - F(x,\,t_1)\| &\leq \omega_1\big(|t_2 - t_1|\big) \quad \text{for} \quad |t_2 - t_1| \leq \sigma \ ; \\ \|F(x_2,\,t_2) - F(x_2,\,t_1) - F(x_1,\,t_2) + F(x_1,\,t_1) &\leq \|x_2 - x_1\| \ \omega_2\big(|t_2 - t_1|\big) \\ \text{for} \quad \|x_2 - x_1\| &\leq 2\omega_1(\sigma) \ , \quad |t_2 - t_1| \leq \sigma \ . \end{split}$$

Theorem 2. Let $\omega_1(\eta)$, $\omega_2(\eta)$ be increasing continuous functions for $\eta \in \langle 0, \sigma \rangle$, $\omega_i(0) = 0$, $\omega_i(\eta) \ge c\eta$ for i = 1, 2, where σ , c are positive constants. Let $\omega_2(\eta) = \eta$ $\varphi(\eta)$, where $\varphi(\eta)$ is a decreasing function on $\langle 0, \sigma \rangle$, $\lim_{\eta \to 0} \varphi(\eta) = \infty$.

Let us have a sequence of ordinary differential equations

(17)
$$\frac{\mathrm{d}x}{\mathrm{d}t} = f_k(x, t), \quad x(\zeta) = \xi$$

for k = 0, 1, 2, ... Let $F_k(x, t) = \int_{\zeta}^{t} f_k(x, \tau) d\tau$, $F_k \in F(G, \omega_1, \omega_2, \sigma)$, $F_k \to F_0$ uniformly with $k \to \infty$. For k = 0 let there exist a unique solution of (17). Finally, let (3) hold.

Then the sequence of solutions $x_k(t)$ of (17) converges to $x_0(t)$ uniformly with $k \to \infty$.

Note. The assumption (3) can be replaced by another. Let us estimate the integral

$$\int_{x_{n+1}}^{x_n} x^{-2} \, \omega_1 \left(\psi \left(\frac{1}{x} \right) \right) dx \,,$$

where $x_n = 2^{-n}$. As $\int_{x_{n+1}}^{x_n} x^{-2} dx = 2^n = x_n^{-1}$, we have

$$\frac{1}{x_n} \omega_1 \left(\psi \left(\frac{1}{x_{n+1}} \right) \right) \leq \int_{x_{n+1}}^{x_n} x^{-2} \omega_1 \left(\psi \left(\frac{1}{x} \right) \right) dx \leq \frac{1}{x_n} \omega_1 \left(\psi \left(\frac{1}{x_n} \right) \right),$$

$$\frac{1}{2} 2^{n+1} \omega_1 (\psi(2^{n+1})) \leq \int_{x_{n+1}}^{x_n} x^{-2} \omega_1 \left(\psi \left(\frac{1}{x} \right) \right) dx \leq 2^n \omega_1 (\psi(2^n)).$$

The assumption (3) is therefore equivalent with the assumption of existence of the integral

(18)
$$\int_0^\alpha x^{-2} \, \omega_1 \left(\psi \left(\frac{1}{x} \right) \right) \mathrm{d}x$$

for some positive α .

Similarly we can show that the convergence of (1) is equivalent with the existence of the integral

In fact,

$$\textstyle\sum_{n=1}^{\infty}2^{n}\;\omega_{1}\left(\frac{1}{2^{n}}\right)\omega_{2}\left(\frac{1}{2^{n}}\right)=\;\sum_{n=1}^{\infty}\omega_{1}\left(\frac{1}{2^{n}}\right)\varphi\left(\frac{1}{2^{n}}\right);$$

if we put $x_n = 2^{-n}$ again, then

$$x_n^{-1} \omega_1(x_{n+1}) \omega_2(x_{n+1}) \le \int_{x_{n+1}}^{x_n} x^{-2} \omega_1(x) \omega_2(x) dx \le x_n^{-1} \omega_1(x_n) \omega_2(x_n),$$

$$\frac{1}{2} \omega_1\left(\frac{1}{2^{n+1}}\right) \varphi\left(\frac{1}{2^{n+1}}\right) \le \int_{x_{n+1}}^{x_n} x^{-1} \omega_1(x) \varphi(x) dx \le \omega_1\left(\frac{1}{2^n}\right) \varphi\left(\frac{1}{2^n}\right).$$

If $\varphi'(x)$ exists and

$$\chi(x) = -\frac{\varphi(x)}{x \, \varphi'(x)}$$

is continuous, we can transform the integrals (18), (19) to

$$\int_0^\beta \omega_1(x) \, \varphi'(x) \, dx \, , \quad \int_0^\gamma \omega_1(x) \, \varphi'(x) \, \chi(x) \, dx$$

respectively. According to the definition of χ , we have

(20)
$$\varphi(x) = c \exp \int_{x}^{1} \frac{\mathrm{d}t}{t \, \chi(t)}, \quad x \, \varphi(x) = c \exp \int_{x}^{1} \left(\frac{1}{t \, \chi(t)} - \frac{1}{t}\right) \mathrm{d}t.$$

As $x \varphi(x) \to 0$ with $x \to 0$, we have $\chi(x) \ge c' > 0$. Hence the new criterion never gives a worse result than the original one.

On the other hand, it is easy to show that in some cases we obtain a better result (e. g. for $\varphi(x) = -\log x$). This can happen if $\chi(x) \to \infty$ with $x \to 0$. From (20) it follows that then the function $\varphi(x)$ diverges more slowly than any negative power of x.

References

- [1] J. Jarník and J. Kurzweil: On Continuous Dependence on a Parameter. Contributions to the Theory of Non-Linear Oscillations 5, 25—35.
- [2] J. Jarnik: On Some Assumptions of the Theorem on the Continuous Dependence on a Parameter. Čas. pro pěst. mat. 86, 1961, 4, 404—414.
- [3] *J. Kurzweil* и *Z. Vorel*: О непрерывной зависимости решений дифференциальных уравнений на параметре. Czech. Math. Journal 7 (82), 1957, 4, 568—583.
- [4] J. Kurzweil: Generalized Ordinary Differential Equations and Continuous Dependence on a Parameter. Czech. Math. Journal 7 (82), 1957, 3, 418—449.
- [5] J. Kurzweil: Addition to My Paper Generalized Ordinary Differential Equations and Continuous Dependence on a Parameter". Czech. Math. Journal 9 (84), 1959, 564—573.
- [6] J. Kurzweil: On Integration by Parts. Czech. Math. Journal 8 (83), 1958, 356-359.

Výtah

O JISTÉ MODIFIKACI VĚTY O SPOJITÉ ZÁVISLOSTI NA PARAMETRU

JIŘÍ JARNÍK, Praha

S použitím věty o existenci zobecněného Perronova integrálu, obdobné větě 1 v [5], dokazuje se věta o spojité závislosti na parametru:

Označme $F(G, \omega_1, \omega_2, \sigma)$ množinu všech funkcí F(x, t), majících vlastnosti:

$$\begin{split} G \subset E_{n+1} \;, \quad & F(x,t) \in E_n \quad \text{pro} \quad (x,t) \in G \;; \\ \|F(x,t_2) - F(x,t_1)\| \; & \leq \; \omega_1(|t_2 - t_1|) \quad \text{pro} \quad |t_2 - t_1| \; \leq \; \sigma \;, \\ \|F(x_2,t_2) - F(x_2,t_1) - F(x_1,t_2) + F(x_1,t_1)\| \; & \leq \; \|x_2 - x_1\| \; \omega_2(|t_2 - t_1|) \\ \text{pro} \quad & |t_2 - t_1| \; \leq \; \sigma \;, \; \|x_2 - x_1\| \; \leq \; 2\omega_1(\sigma) \;. \end{split}$$

Buďte $\omega_1(\eta)$, $\omega_2(\eta)$ spojité rostoucí funkce pro $\eta \in (0, \sigma)$; $\omega_i(0) = 0$, $\omega_i(\eta) \ge c\eta$ pro i = 1, 2, kde σ , c jsou kladné konstanty. Buď dále $\omega_2(\eta) = \eta \varphi(\eta)$, kde φ je klesající v $(0, \sigma)$, $\lim_{\eta \to 0} \varphi(\eta) = \infty$.

Buď dána posloupnost diferenciálních rovnic (17) pro k=0,1,2,... Nechť $F_k(x,t)=\int_{\zeta}^{t}f_k(x,\tau)\,\mathrm{d}\tau,\ F_k\in \mathbf{F}(G,\omega_1,\omega_2,\sigma),\ F_k\to F_0$ stejnoměrně. Nechť existuje jediné řešení $x_0(t)$ rovnice (17) při k=0. Konečně nechť platí (3).

Pak posloupnost řešení $x_k(t)$ rovnic (17) konverguje stejnoměrně k $x_0(t)$.

Резюме

ОБ ОДНОЙ МОДИФИКАЦИИ ТЕОРЕМЫ О НЕПРЕРЫВНОЙ ЗАВИСИМОСТИ ОТ ПАРАМЕТРА

ИРЖИ ЯРНИК (Jiří Jarník), Прага

С помощью теоремы существования обобщенного интеграла Перрона, аналогичной теореме 1 в [5], доказывается теорема о непрерывной зависимости от параметра.

Обозначим через $\mathbf{F}(G, \omega_1, \omega_2, \sigma)$ множество всех функций F(x, t), имеющих следующие свойства:

$$\begin{split} G \subset E_{n+1}, & F(x,t) \in E_n \quad \text{для} \quad (x,t) \in G \;; \\ \|F(x,t_2) - F(x,t_1)\| & \leq \omega_1(|t_2 - t_1|) \quad \text{для} \quad |t_2 - t_1| \leq \sigma \;, \\ \|F(x_2,t_2) - F(x_2,t_1) - F(x_1,t_2) + \dot{F}(x_1,t_1)\| & \leq \|x_2 - x_1\| \; \omega_2(|t_2 - t_1|) \\ \text{для} \ |t_2 - t_1| & \leq \sigma, \; \|x_2 - x_1\| \leq 2\omega_1(\sigma). \end{split}$$

Пусть $\omega_1(\eta)$, $\omega_2(\eta)$ — непрерывные возрастающие функции для $\eta \in \langle 0, \sigma \rangle$; $\omega_i(0) = 0$, $\omega_i(\eta) \geq c\eta$, для i = 1, 2, где σ , c — положительные постоянные. Пусть, далее, $\omega_2(\eta) = \eta \ \varphi(\eta)$, где φ — убывающая в $\langle 0, \sigma \rangle$, $\lim_{\eta \to 0+} \varphi(\eta) = \infty$.

Пусть задана последовательность дифференциальных уравнений (17) для $k=0,1,2,\ldots$ Пусть $F_k(x,t)=\int_\zeta^t f_k(x,\tau)\,\mathrm{d}\tau,\ F_k\in \mathbf{F}(G,\omega_1,\omega_2,\sigma),\ F_k\to F_0$ равномерно. Пусть для k=0 существует единственное решение $x_0(t)$ уравнения (17). Наконец, пусть выполняется (3).

Тогда последовательность решений $x_k(t)$ уравнений (17) сходится равномерно к $x_0(t)$.